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Review of Grade 9-10 Math

Lines
1. Graph thelines
3
y=——X+5
a. 4
b, 2x—3y-9=0
c. x=8
d y=-6

2. Find an equation for a line
a) with slope 6 passing through (-1, 4)
b) that passes through (-5, 0) and (5, 6)
c)

Find the x and y intercepts of y = —2X + 3

d)

60 /
55
50 /
45 /
40
35
30 '/
25
20
15
10

4. Alineis perpendicular to 5x + 2y — 8 = 0 and has the same y-intercept as x + 4y — 12 = 0. Find an equation for the line.

5. Translate into mathematical symbols

a. Brian’s car costs him $4000 plus $0.20 per km every year. Write an expression for C, cost, to drive k,

kilometers.

b. Mike earns $225 each week. Write an expression for E, earnings for w weeks
Candace and Dino run computer repair services. For a service call, Dino charges $50, while Candace charges
S40. In addition, they each charge an hourly rate. Dino charges $30/h and Candace charges $35/h. Write

equations for both.

Algebra
6. Solve each equation.
a.2x+5=11 b. 3M=m+4
10 5 Xx+1 x-1
& 8 X 3 5
7. Simplify
2.3-2x+x? —7+5x b.3x?(2x)
e. 3xe2x% e 7X f. x®+4x°

c%_1:4 d.5(2x~3) = 2(x~2) +5

y_y , 5n_4n 7
82 3 h.o 3 6
6x%y° 2
¢ 2xEy? a. (4y*x)
5ab® 2
el h. (—3ab*c?
& 10ab? ( )
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Quadratics

8.

a)
b)
)
d)

10.

a)
b)

11.

b)

12.
13.
14.
15.
16.

17.

Find the equations of the following in all three forms (standard, factored, vertex)
a. b. c.

Solve by factoring.

5x*=—8x—3
47 =1
10m* —40m =0

—18x° +39x =15
Graph each of the following. (factor to find zeros, and then find the vertex)
y= x> +2x—15
y= 4x° - 8x—5
Complete the square
y= —2xX* +8x+5

y —_ i X2 — l X + l
4 8 4

State the equation for the arc in all three forms (factored/vertex/standard), given that the parabolic arc’s legs are at 2m away
and at 6 m away, and the arc’s maximum height is 10m.
What is the maximum area that can be enclosed by 200m of fencing?
Determine two numbers whose difference is 12 and whose product is a minimum.
A bus company has 4000 passengers daily, each paying a fare of $2. For each $0.15 increase, the company estimates that it will
lose 40 passengers per day. If the company needs to take in $10450 per day to stay in business, what fare should be charged?
Jackie mows a strip of uniform width around her 25m by 15m rectangular lawn and leaves a patch of lawn that is 60% of the
original area. What is the width of the strip?

A daredevil jumps off the CN Tower and falls freely for several seconds before releasing his parachute. His height, h, in meters, t

seconds after jumping is given by h = —=4.9t? + t + 360 before he released his parachute; and h = —4t +142 after he
released his parachute. How long after jumping did he daredevil release his parachute? How high was the jumper at this time?

Trigonometry

18.

Given AABC ~ ADEF  jatermine 19- Find the value of each indicated variable {to one decimal place}
the value of x. D a) b)

7.1 27

6 £ 50° 34°
9 a

16

20. Teresa is at the top of her apartment building and is looking down at her friend Karin at a 50° angle of depression. The

horizontal distance from the base of the building to Karin is 16 m. Determine the vertical height of the building.
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